
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/4224b-20-inch-extension-bed-kit
7/17/25

4224B 20-inch Extension Bed Kit
Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/4224b-20-inch-extension-bed-kit


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/4224b-20-inch-extension-bed-kit
7/17/25

Description

Index
Number

Part
Number Description Size Qty

 6294900 20” Extension Bed Kit (includes #1 thru 27)  1

1 6294905 20” Extension Bed (includes #2 thru 4, 25, 26)  1

2 4224B-502 Socket Head Cap Screw 1/2”-12x2” 7

3 TS-0720111 Lock Washer 1/2” 6

4 TS-0680061 Flat Washer 1/2” 4

5 TS-0209081 Socket Head Cap Screw 3/8”-16x1-3/4” 6

6 TS-0720091 Lock Washer 3/8” 6

7 TS-0680042 Flat Washer 3/8” 4

8 4224B-508 Socket Flat Head Screw 3/8”-16x1” 2

9 4224B-509 Top Plate  1

10 4224B-510 Pivot Bracket  1

11 4224B-209 Lock Handle  1

12 4224B-512 Column  1

13 TS-0209031 Socket Head Cap Screw 3/8”-16x3/4” 3

14 4224B-514 Rack  1

15 TS-0270031 Set Screw 5/16”-18x3/8” 4

16 4224B-226 Handwheel  1

17 4224B-517 Extension Shaft  1

18 4224B-518 C-Ring S-12 2

19 4224B-519 Shaft  1

20 4224B-520 Gear  1

21 4224B-521 Worm  1

22 4224B-522 Nylon Nut 1/2”-12 1

23 TS-0271111 Set Screw 3/8”-16x1-1/2” 1

24 TS-0570031 Hex Nut 3/8”-16 1

25 6295853 Tool Rest Post  1

26 6294763 Lock Handle  2

27 4224B-527 Gear Base  1

https://jpw-catalog-qa-b2c-2.corevist.cloud/4224b-20-inch-extension-bed-kit


3 https://jpw-catalog-qa-b2c-2.corevist.cloud/4224b-20-inch-extension-bed-kit
7/17/25

Additional Information

Stock Number 1794224K-5

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/4224b-20-inch-extension-bed-kit

